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BACHELOR'S DEGREE PROGRAMME (BDP) 

Term-End Examination 

June, 2015 

ELECTIVE COURSE : ECONOMICS 

EEC-12 : INDIAN ECONOMIC DEVELOPMENT 

SINCE INDEPENDENCE 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as per 
instructions. 

SECTION A 

Answer any two questions in about 600 words 
each. 	 2x20=40 

1. Describe the economic problems which India had 
to face due to 'partition' at the time of her 
independence. 

2. Discuss the major determinants of economic 
development. 
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3. Give an account of post-independence 'agrarian 
reforms, legislation and implementation'. 

4. Outline the features necessary to be 
incorporated in a sound 'export strategy'. 
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SECTION B 

Answer any four questions in about 300 words 
each. 	 4x12=48 

5. Bring out the changes in the sectoral 
employment profile. in India over the period 
1951 — 91. 

6. Explain the three indicators in the 'Physical 
Quality of Life Index' (PQLI) suggested by 
D. Morris. 

7. Discuss briefly 'various measures of mortality'. 

8. Write a note on the 'use-based classification' of 
industrial activities in India. 

9. Briefly explain the three factors which influence 
the process of 'workforce restructuring' over 
time. 

10. Explain the concept of 'Saving Gap'. 

EEC-12 	 3 	 P.T.O. 



SECTION C 

Answer any two questions in about 100 words 
each. 	 2x6=12 

11. Specify the components involved in the equation 
describing the Harrod — Domar growth model. 

12. Distinguish between 'agrarian reforms' and 
`tenancy reforms'. 

13. How is 'current weekly status of unemployment' 
measured ? 

14. What is meant by 'Greenfield privatisation' ? 

EEC-12 	 4 



t.t .4t.-12] 
Irr-dw Tufty abi 	 (4t.it.41.) 

Tr-lia 

T4, 2015 

FPF1 

 

j;is•ct, 	: anivrrm 

	

: 	 VT 

	

nrratzr 	%mu 

:3 Wirj : loo 

gR* ('U 	4 14crquifiR 	3-d1 elOq / 

twr 	yipy 	3ff1 R-171777 600 WO' 37"4"W) 
ee4k7  / 	 2x20=40 

1. * 1:Frzr TRT 	Iktrw' * w(uT 1%7 
aTrrIk ligtztrat 	Tarrqr 	tr4T ? aufq 
ttr4R 

2. aTrr2k 1-4-*-RT * ts.e1 Auir-4 wqi 

EEC-12 	 5 	 P.T.O. 



3. ITR-ff 'IA TTR atmcb fay at( 

3-1 rsbeil-cM' r641 r4R I 

4. aT et TR1Tiff 11T11%'  > TER 	•IR•  1r1C, 

?14-4Tur tr-A-R 

EEC-12 	 6 



	 W7 	3R?' ffrf377 300 ZoWY (NR:1-W) 

007 / 	 4x12=48 

5. `34R-ff 4 1951 — 91 	areET 	44-1174TK 'i):7111It 

	*tfltd4R1 PTV Atr4R I 

6. al *1 ledw ttularit 	kizict) 4 wrftrF 
R-R t. 	tsliq TR AIR. 	4q.-4 ? 
00-11t9ell *tr-47 

7. HtuR 	I 	iiricrT likkg 4 	*rD-R I 

8. ITTTff 4 atterw TrrafaRTAI 	̀sra4--44 autTritff 

Glifichve 	tart furciR 

9. `chi4i6 7tWATI*T m6eii 	NiTfrdff 

ciA .10 41-4 cbitct;i*t TifkiN 04114.9,41 *07 

10. `4-4ff 	tict)c.*11 kv-mi 

EEC-12 	 7 	 P.T.O. 



Ion IT 

51PT 4-  Jiff R717771 100 41W1.  (37Ri*) 

er-47 / 	 2x6=12 

11. its - s 	51 	 cntui 

W-4R 

12. `cpfzicti TTRT 	stqft 	'> 	A 

13. 4 i) 3̀1111(1 	1-11.1 (11k-11) 	 1:11tR 
AWR 	? 

14. `3411:0 (vim A .) 	4741T 3.14 ? 

EEC-12 	 8 	 1,500 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

